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QUESTION 1

LetA={a b, c, d, e} and let R = {(3, a), (8, ©), (&, ), (b, d), (¢, 3}, &, €}, (d, d), (¢, a), (@, )}
relation on A. Use Warshall’s algorithm to compute the transitive closure of R.

QUESTION 2
Let / be a function from A to B. Determine whether function f is one to one and whether

it is onto.
A=R, B={x|xisareal and x 2 0}; fla) = 2*

QUESTION 3
letA=1{1,23,4,5,6,7 8} Compute the product (3,5,7,8)0(1,3,2)

QUESTION 4
LetA={1,2734,56,738} Write the following permutation as product of transpositions.

(2,1,4,5,8,6).
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